2023StH T YWESD &0 S22 OHET 42 2NE
2 X Y(2Zold) 22| Jetll( 8H)
oF 5 S (SEX) SE2
U o I =i =R O Xt |ROEN o
o] % || % || % 2| % (2] %
1.0t stn T2 0| O TSt 6] 75 2l 25 0o O of ol o o
QEZTRM MEIA| FENS2 SEWLIR? 7| 875 11 125 of o o of o o
3ot EEdo =20| Lt 7| 875 11 125 of o of ol o o
AMDFHE S0|=0H =20| & JLtR? 6] 75 2] 251 o o© of ol o o
S5RAO0ZL XHHE O ZZ MO Hojstn HLIR? 6] 75 2] 251 o o© of ol o o
6. ZA7F 2 ARMEE OHLYE & SHFAILIR? 6] 75 1| 1251 1| 13 oo of o o
7H8AHEHO| FBH Tl AZEEX|7| 1 Eol2 2FSILIR? 6] 75 2] 251 o o© of ol o o
8.LAEO| M AR S A0 E ALESHA| E& L Ch 7| 87.5 1 125 of o0 o of o o
9.0| Z=T1240| XA 30| =20| £[LtR? 5| 62.5 2| 25 1] 13 o of o o
= 78 19.4
97
2 A (o) Ho|0la( 11 9)
oF 5 Z(SEX) seQ
T = 2™ CH =0 88 O X |RIOEN &
o121 % | o1& [ % o2 % [oi2| % (o122 %
1.0t stn T2 20 CHs DHESEL It 7| 63.6 1| 9.09| 3| 27 ol ol o o
QIEZTRM MEIA| FENS2 SEWLIR? 8| 727 0 ol 3| 27 o of o o
et E Yo =20| L 8| 72.7 0 ol 3| 27 ol ol o o
AMNUSHE E0[=0 =20| &|RLtR? 7] 63.6 1| 9.09| 3| 27 o of o o
502X AHAE O T2 FHOISHD ALtR? 7| 63.6 1| 9.09| 3| 27 o of o o
6. ZA7F T2 ORMEE OHLHE & SiFAILIR? 8| 727 0 ol 3| 27 o of o o
7.2 MOl FB Tl A[ZHEX| 7|0 Eo|E 2 HSLIR? 7| 63.6 1| 9.09| 3| 27 o of o o
8.LAEO| M AR = A0 E ALESHA| @E& L Ch 8| 727 0 ol 3| 27 o of o o
9.0| Z=T1240| Xt 30| =20| £[LtR? 8| 727 0 ol 3| 27 o of o o
EE 69 4.04 27
73
2 I F(xoH) 2UHE( 5Y)
oF 5 Z(SEXR) st g
WeICH agc 9s I NYLCH jRIEX &
LA =3
o] % || % || % 2| % (2] %
1R 0tS st T2 20 TS SHESELt? 4 80 11 20| of o ol o/l o o0
2EZ W MEA[FENS2 S2/LIR? 4 80 11 20 of o o of o o
3ot dEddo ==20| Lt 4 80 11 201 of o o of o o
ANDEHE E0|&H =30| &ULtR? 4 80 11 20l of o o of o o
5QA0ZL XHHE O ZZIMO| Hojstn HLIR? 4 80 11 20 of o of ol o o




6. A Z2ORMElE QHIE & SFA|ILIR? 4 80 11 20 of o of ol o o
7.2 MOl FB Tl A[ZHEX| 7|0 Ho|E R HSHLIR? 4 80 11 20| of o oo of o o
8.LAEO| M AR = A0 E ALESHA| @b& LT 4 80 11 201 of o o of o o
9.0| ZEHO| XpHo| HAHTHO| =20 &[Lta? 4 80 11 20 of o of ol o o
EE 80 20
100
2 A H(AU) Hol=el( 7 %)
oF 5 Z(SEX) SE2
U = 1= C =0t =R O XQCH jLOEXN &
oI % || % || % [2H| % [ %
1.8 0tFstn T2 WO CHsf STt 6| 85.7 0 of 1| 14 ol ol o o0
QEZRM MEA|FENS2 SERLR? 6| 85.7 0 o 1| 14 of ol o o
3etgAEEYo| =20| L 6| 85.7 0 o 1 14 of ol o o
AMDFHE F0|=0 =20| &JALtR? 5| 71.4 1| 143 1| 14 of ol o o
5.2 X AHHE O ZE MO FOISLL ALtR? 6| 85.7 0 o 1| 14 o of o o
6. ZA7F 2 OREE OHYE & SHFA|ILLR? 6| 85.7 0 o 1| 14 of ol o o
7.Z3AHEO| FHBl Tl A|ZHEX]7| 2 Eol2 2 HSILER? 6| 85.7 0 o 1| 14 o of o o
8.ZAEO| M AR = A0 E ALESHA| b& LT 6| 85.7 0 of 1] 14 of ol o o
9.0| ZEHO| XpHo| MEHTHO| =20| &[LtR? 5| 71.4 0 ol 2| 29 of ol o o
e 83 1.59 16
84
2 A (o) H2(79)
oF = Z(SYX) e
U - <=0 =0 88 OR X |LIAEN &
o] % || % || % 2| % [ %
1.8 025t T2 WO CHsf ST t? 5| 71.4 1| 143 1| 14 o of o o
QIEZTRM MEIA| FENS2 SERLR? 5| 714 0 of 1| 14 11 14] of o
et E Yo =20[ gL 4( 57.1 2| 286| 1| 14 ol ol o o
AMNISHE E0[=0 =20| &|RLtR? 6| 85.7 0 o 1| 14 of ol o o
5.9 02k AHHE O ZEOHWO| FO{StD HLER? 5| 71.4 1| 143 1| 14 oo of o o
6. UM ZEOMEE OHHE & SFAILIR? 6| 85.7 0 of 1| 14 o of o o
7.ZAHEO| FBl Tl A|ZEEX[7| 0 Eol2 2 HLILER? 4| 57.1 3] 429 o] © of ol o o
8.LAIEO| N AR = A0 E ALESHX| & LT 5| 71.4 1| 143 1| 14 oo of o o
9.0| ZE1MO| Xpo| MY =20 &|LtR? 5| 714 11 143 1| 14 o of o o
e 71 14.3 13

86




